b Ll 1 09 el

a. (+4) — (+ 15) d. (+14) - (- 4)
b. (- 12) - (+ 5) e. (+6) — (+ 6)
c. (-10)-(-7) f.(-200-(+7)
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400 aalaal) el 1 11 el
A=(H+17)+ (-5 +(+4)+(+5) +(-3)
B=(-12)+(—4)+(+7)+ (+ 8) + (— 6)
C=(-3)+(+54)+(-4,8)+(+6,6)+(—1)
D=(+12)+(+42)+(+7,1)+ (- 6,7)

400 aalaal) el 1 12 cppall)
(+4) - (—2)+(-8) - (+7)

a

b. (- 27) — (- 35) — (— 20) + (+ 17)

c. (+3,1)+(-35)—-(+7,8)—-(+1,6)

d. (-16,1) — (+ 4,25) + (+ 7,85) — (+ 1,66)

b L Jasi 1 05 gppal
a. (+2)+(.)=(+7) e. (.)+(+1)=0
b. (..)+(+15) =11 f.(.)+ (=15 =11
. (=5+C)=0-7) 9. (+3)+(.)=(-9)
d. (+8)+(.)=((+2) | h. (.)+(-3)=—6

b Ll 1 06 Gl
a. (+12) + (- 3) + (— 8)
b. (—9) + (- 14) + (+ 25) + (— 3)
C. (+3)+(—7)+(—8) +(+ 2)

Ol (8 (o (AN Gileaas JasSi 1 07 Gl
L(+2)—(+ ) =(+2) + ()
(=4 - (+5)=(-4)+(.)
(-8)—-(—14)=(.)+(.)
(9 - (-9 =)+ ()

a n T o

b Ll 1 08 Gl
d. (+14) — (— 4)
e. (+6) —(+6)
f.(-200-(+7)

a. (+ 4) — (+ 15)
b. (- 12) — (+ 5)
c. (—10) - (- 7)
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+ Lae laal L 5 Al el @iy 10 Cpad)
a. +35;-20,39; -12,03; +5,6; — 123,45,
b. -7001;-71;-7,71;-7,01;-72;-7,7.
c. —100,3; —99,3; - 100,03; — 99,13 ; — 9,3.
DA S (A Al ol 220 aadl 102 e
a. - 2> ..>-4

b. +5<...<+6

c. — 142> ..>-14,5

d. +01>..>-0,2

e. +14,35 .. ...... + 14,36
f.-144...... + 0,71

g. -17,34......... - 17,304
h. — 132,24 ... ... ... — 132,247

Db L e 103 Gl
e. (- 20) + (- 12)
f. (+ 40) + (— 60)
g. (— 36) + (+ 18)
h. (— 25) + (+ 0)

a. (+2)+(+7)
b. (— 4) + (+5)
c. (—8) + (— 14)
d. (+9)+(—9)

daaual) Aoty Al (S Jay )i 104 Gaoall)

(-12) + (— 4) - . +4
(+12) +(— 4) - . - 20
(-12) + (- 8) - . - 16
(—8) + (+12) - . +12
(+8) +(+4) - . + 8




L gee
14.9- 15.6- O Lgaa (i a2 A
+(-3+7)-(4-88)(-4)-(-5) .B
52+34-(35-41)-(8-7) .C
Claag 6 ylde 2 ¢ (-3)-(-3) .D
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0 8
— 11 2
-9 | -1 12 3
-3 — 12 9
-2 11 -6 7

- 9+ = b Lasd Jasi 1 20 Cpall
a.0703=-4

b. )13(8 = - 21
c. 03,7084 =47
d. 045072 =— 27
e. 0207013=-8
£.01,5023049=-57

D(+2) ; C€(—4) ; B(+1); A(-2)

AB ;AC ;AD ;BC liluall cual

17 Cnsal)
A C B E D
—+—k—F+——kk—+—t+—t—k—k—1—1—%k—
0 +1
AB = xg — Xa EC=x... — x

AB = (....) - (...)

AB = ... =5 EC = ... G
118 ol
A B C D
1
11
111
v
Liad)

8 LSl ¢ gl (udi b llug caga e |
-13+215-7-6 .l

-5uSlaa 4-(-6-6) Il

-0,5 + 1,5¢ 6 (uSlaw (usSlae IV

dsdlcial) <l jladl G day i 1 13 el

(- 8)+ (- 16) - + 8-16
(+8) + (— 16) - «+ 8+16
(- 8)—(-16) - + —8+16
(- 8)-(+16) - + —8-16
(+8)+ (+16) -

b L Jasi 1 14 el

a. (—9)—(+13)+(-15)

b.| (-10)+(+7)—(-3)—(-3)

C. (+5)—(—2)+(+3)—(+2)

d. -6-8+5-3

e. 15-13-8-7

f. -3-5-9+1
b L gl 1 15 Gl

a. 5-14 e. 53 -18

b. 8 - 13 f. —28-12

c. -6-6 g. — 17 +17

d. - 13+9 h. 0 - 89

b Ll 1 16 Gasalll

A=24 36+ 18
B=—13 - 28 + 35
C=-8-4+12

D=18-8+4-14
E=-23+44-21
F=14-23+56 - 33





